ENTITY secs IS

PORT ( clk : IN BIT;

                          Reset_sec : IN BIT;

                          Secs : OUT BIT_VECTOR(5 downto 0) );

END secs;

ARCHITECTURE one OF secs IS


SIGNAL inext_sec, isec : BIT_VECTOR(5 downto 0);

SIGNAL incrnext_sec : BIT_VECTOR(5 downto 0);


SIGNAL incr_sec_carry : BIT_VECTOR(6 downto 0) := “0000001”;

BEGIN


-- F/F process


PROCESS


BEGIN



WAIT UNTIL (clk = ‘1’ and clk’event);



isec <= inext_sec;


END PROCESS:


--Next State


-- First the next seconds count


-- Have   inext_sec = isec+1


incrnext_sec <= isec xor incr_sec_carry(5 downto 0);

incr_sec_carry(6 downto 1) <= isec AND incr_sec_carry(5 downto 0);


--The rest of the next state logic

PROCESS


BEGIN



IF (reset = ‘0  or  incrnext_sec = “111100’) 

    THEN inext_sec <= “000000”;

ELSE

    inext_sec <= incrnext_sec;

END IF:


END PROCESS:


--THERE may or may not be further output logic


--Here you would want to go from the 6 bit representation to 2 bcd

            --You have to at least do the following


Secs <= isec;

END one;

